15 Ry 2 2B REREY F=110 15
| ; g5+
|
T N T
; S Tokteck—1(FEsA7) FHBANDEL
@ = FEHERAN VY FIRy 22 2%: TK-OP-FOOTA
! ! = <€ nFE: TK-OP-SHOO1A

| ) _= —

58

120, 5

| 2 5 1 ; ]22-412 19 43 24
/r """ !l Jj S— 2 -
L B R = =
o 4 4 — /1_:
[ nle 5 L |
E ;

@

219,°2

ﬁ;ﬁﬁﬁ?ﬁ%n‘isl.yl.

R
&

]

! 5
i ! Y
]

233,2
250
233,°2
219
195
219

BB \\

Ay 2 2R AREY F

11,

1

1 1

1 1 //

1 ' 1 ¢ n N " J—
1 1 ’ h 1y [N} "

] , ' '\’ u 1y I " NJ
! as ~ H . BWIZIZZZZZZIZZa)d \EIZIIIIZIZIZIIZIv ]
S el w [ = — T ol

____________________ 36 |

/
N
|
S !
3 i
Z |
“+ H
B |
8.4
i
o4p
RS
B
C
| T3

61,5
E: TK—-OP-FQOQOTA
' Tokteck—1(ERE) FBHBHENYRIKY 72
TK-0OP-SHQOO1A
' / \ W = X=—N— BHRIEMEEKRASH < N
| ! ! | A ¥—O-JERVE| HA15m
| st B N BANBHE T0kg O
5 [ = 71 -2 ABSHIlE (K74 F) 5
| | NVEIb m mie o R L) @
TTL, __________________________ prr i N BIAB Ry 22 SPCC (BEEMAvY +)
B IEmF 1,88 X118 @
15 | 7|'(‘397\HR1¢17‘F7TE‘9?=110 5 X271 —RBEBEZRICN-95 (KR74 b)) EUE,
A = wER BHREFEBRASH FEEREIEEE
. B B A A 11
éi % e I . S TK-OP-SHOO
A = R A B a8 88 as ss @ |PE TK-OP-FOOQ7




